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; 100kN/mM##8Z % — -~ = —|3mzBZzB| — ~ — — — | 100kN/mM%Z#BZ % — -~ — — |3m%i#BZ % -~ — — —
ZznLst 1.00 | 0.00 ~ 4.74 59.02 | #hdst | 0oo ~ 000 1.63 8.19 Zhs 1.00 | 5.00 ~ 5.30 59.02 | #hs | 5.00 ~ 5630 | 1.63 819
2 100kN/mM#%#8Z % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#8Z % — -~ — — |3m%i#BZ % -~ — — —
ZznLst 1.00 | 0.00 ~ 627 78.78 | =4 | 000 ~ 0.00] 1.69 9.04 zh st 1.00 | 5.00 ~ 7.80 7878 | EnS | 6,00 ~ 7.50 | 1.69 9.04
3 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 | 0.00 ~ 6.40 80.51 | #hdst | oo ~ 000 1.65 8.83 Zzh st 1.00 | 5.00 ~ 7.60 80.51 | #hst | 5.00 ~ 7.60 | 1.65 8.83
4 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00 ] 000 ~ 629 79.09 | Thst | 000 ~ 629 1.82 9.73 ZThLLst 1.00 | 500 ~ 756 79.09 | #hs | 500 ~ 756 |1.82 9.73
5 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 | 0.00 ~ 6.31 7925 | #nS | 0oo ~ 631|182 9.76 zh st 1.00 | 5.00 ~ 7.60 7925 | EnS | 6,00 ~ 760 1.82 9.76
6 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ# 25 — -~ — — |3m%#B2% -~ — — —
ZznLst 1.00 | 0.00 ~ 6.31 7928 | #ns | 000 ~ 631|182 9.75 zh st 1.00 | 5.00 ~ 7.60 7928 | =nS | 6,00 ~ 7.60 ] 1.82 9.75
- 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
Zh s 1.00 | 0.00 ~ 530 66.12 | #Fhist | 0oo ~ o0.00|1.53 818 Tnelst 1.00| 500 ~ 625 66.12 | ThES | 500 ~ 625 1.53 818
100kN/mM##BZ 5 ~ ImEHEAZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLs ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ Zh st ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zzh st ~ Zh st ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ Zzh st ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnList ~ Zhst ~
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